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D 25x2 — 20xy + 4y* = (5x — 2y)?
(@)ax2 +2ax+a = (ax+1)?
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—a* + —ab —bQ—(— _>
©9a 261 —|—16 3a-|—4b
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2—— —_ = R
@x 3x—|—9 (x 3)

® (xy)? +22xy + 112 = (xy + 11)2

@ ax® +2ax+a = a(x+1)?
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3. 0<x<79u], Vai2—16x+ 64— Va2 + 10x + 25 = et
@—2x+3 @ 2x+1 ® -2x-5
@ 3x-1 ® -3x+1

&8

Va2 — 16x + 64 — Vx2 + 10x + 25
= J&-92- /x+5)?

— |x— 8 - x +5|
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@ 2x-3 @ x-5 ® x+2
®)3x -4 ® x-2

¥-ax+2=(x-2)(x+k)
=x%+ (k—2)x—2k

k—2=-a,2%k=2

- k=-1,a=3

2x2 = Tx+b = (x—2)(2x +m)
=2x2+ (m—-4)x-2m

m—4=-T7,b=-2m

- m=-3,b=6

¥ -3x+2=(x-2)(x-1)

2x2—Tx+6=(2x-3)(x-2) °|BE=

o] QEe] e

(x=1) + (2x - 3) = 3x — 4 o]T}.
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@) (x-5)(x+2) @ (x-3)(x+6)
® (x+5)(x-2) @ (x—1)(x+10)

FGE x2 —9x — 10 AfIA A4 -10 & 9| Bk,
dHol= x2 —3x - 18 oA x 9] A5 -3 S ZA| Hefrt,
wHebA] o] 7 o] AFAL x2 — 3x - 10 = (x — 5)(x + 2)
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D 10x+2 @ 10x+4 @10x+6
@ 12x+2 ® 12x+6

6x% +7x+2 = (2x+1)(3x+2) °o]BE2 E&|2] dol=2x (2x+
1+3x+2) =10x+6 °]c}.
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D x%+4x @ x-2

@ x> +4x+1 ® x> +4x+3

B

x? 4+ 4x =t 2 | &olH
243t—-4=(-1)(t+4)
= (2 +4x—1)(x% +4x+ 4)
= (% +4x-1)(x+2)2




8 F+3x=54 M, x(x+1)(x+2)(x+3)-3 ] 32?

@® 21 @32 ® 60 @ 96 ® 140

(x24+3x)(x2 +3x+2)-3=5(5+2)-3=32




9. (x-1(x=-3)(x-5)(x-7)+k 7} AT o] HL=F Ak 9
w27

@ 2 @ 4 ® 6 @ 11 @16

B ~
(x=1D)(x-T)(x=3)(x—5)+k
=(x?-8x+7)(x*-8x+15) +k
X2 —8x=A2 E=OM,

(A+7)(A+15)+k

=A2 +22A + 105+ k = (A + 11)?

2105 +k =112 =121

o k=16




10. 9= T 2 +y-x-x%y o 57t ofd A7

@xz—y @ x-y ® x-1
@ x+1 ® x?-1

B




11. x®+5xy+2x—5y -3 = ALE3|51H?

@ (x+1)(x+5y+3) @ (x-1)(x—5y+3)
® (x-1)(x+5y-3) @(x—l)(x+5y~l—3)
® (x+1)(x=5y-3)

x? 4+ 5xy+2x—5y—3
= x% + (5y + 2)x — (5y + 3)
=(x+5y+3)(x-1)
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@ma + mb

=m(a+b)

@ a® + 2ab + b? = (a + b)?

® a*-2ab+ b* = (a-b)?
@)a? - b* = (a+b)(a-b)
® x*+(a+b)x+ab=(x+a)(x+b)
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=-x(82-2?) > ax+ay=a(x+y)

X (84 2)(8=2) - a®—b = (a+b)(a-b)




13. o4 92— 12v +a S SAAFAH O TAW (3x-b)2 o]tk o,
a-2b © g Fehu?

® -4 @ -2 @0 @ 2 ® 4

9x2 —12x+a= (3x)2-2-3x-2+22 = (3x-2)2
et a =4, b =2 °Jth.
La—=-2b=4-2%x2=0
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= (a+1)(a-24)

D a2 — 23a - 24
@ a2 + 10a - 24

(a—2)(a+12)

(a+3)(a-8)

@ a®-5a-24

=(a—4)(a+6)

® a®>+2a-24




15. thgol Fol7l mFg olgstol 412 A9 AA7tF el Yol 2 vhehy
G o AALP O 7R B AR o7t E & Q= AS BF
=Y

PRI PRI T~ Y T~
¥ ¥ I O
l\ l\ ,-.'E~\ ,-$~\ 1
—— = ]
’ ’ -~ T~ 1
\ \ . T 1
= 0]
\ \ 1| |1 1@
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16. (x+y)(x+y—1)-20 = HIE2A AeEafg A7

@<x+y—5)(x+y+4) @ (x+y-4)(x+y+5)
® (x+y-5)(x+y-—4) @ (x-y-4)(x—y+5)

® (x-y-5)(x—y+4)

B

x+y=A 2l s}
(x4+y)(x+y-1)-20=A(A-1)-20
=A2-A-20
= (A-5)(A+4)
= (x+y-5)(x+y+4)




17. (a—=b-2c)(a—b+5c)—30c? & AF2olstH?

® (a-b+3c)(a—b-"Tc) @ (a-b+4c)(a—b+5c)
@(a—b—Bc)(a—b+86) @ (a-b+5c)(a—b-8c)
® (a-b-2c)(a-b+4c)

B

a-b=t2 =0,
(a=b-2c)(a—-b+5c) - 30c?
= (t—2¢)(t + 5¢) — 30c?

= 12 + 3ct - 40¢?

= (t—5¢)(t+ 8¢)
=(a—b-5¢c)(a-b+8)




18. (x+2)2-(x+2)(y—-1)-6(y—1)>& I5E35}H?

@ (x+3y-1)(x-2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x—2y) @) (x -3y + 5)(x + 2y)
® (x=3y—-4)(x-2y+1)

B

x+2=A4, y—1=BZ %A

A2 - AB-6B® = (A +2B)(A - 3B)
={(x+2)+2(y-1)} {(x+2)-3(y-1)}
=(x+2+2y-2)(x+2-3y+3)
=(x+2y)(x—3y+5)
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0<x<1Qu, ohg A WESHE x o] 2 Fopu?

1 1
0<x<l,x—=-<0,x+->0°]2=2
X X

34/ (—x)% - <x+§>2—4+ (x—§)2+4:5




20. 49x%2 -9+ ldxy+y? =<l

15235k EHY (ax+y+b)(ax +cy + 3)
7F = ek o, 444 a, b, ¢ ol ot a— b+ ¢ O] FZ FoFH?

@ 2 @ 4 ® 6 @11 ® 16

B

49x? + 14xy +y? -9 = (Tx +y)? - 32

=(Tx+y+3)(7Tx+y-3)
a=7,b=-3,c=1

La-b+c=11




